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AS LEVEL BUSINESS COMPONENT 2

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 717 8.9 2.9 16 55.6 100

2 717 10.4 4.7 23 45.2 100

3 717 8 3 16 50.3 100

4 (a) 425 6 1.9 10 59.8 59.3

4 (b) 423 6.6 3.1 15 43.8 59

5 (a) 90 4.8 2.4 10 47.6 12.6

5 (b) 90 7.3 2.9 15 48.9 12.6

6 (a) 200 4.4 2.6 10 44.1 27.9

6 (b) 200 6.6 3 15 43.8 27.9
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AS LEVEL BUSINESS COMPONENT 2

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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1 (d) Advise Sara whether to go ahead with the business adviser’s suggestions.  [10] 


Band 
AO1 AO2 AO3 AO4 


2 marks 2 marks 3 marks 3 marks 


3 


  3 marks 
Excellent analysis of 
the positive and 
negative impact of the 
proposed 


organisational change. 
 
Analysis shows a clear 
line of argument and 
includes an excellent 
understanding of the 
impact of the change.  
 


3 marks 
An excellent and well 
balanced evaluation of 
the decision to change 
(or not change) 


organisational structure. 
 
Relevant judgements 
are made with 
supporting statements 
to build on arguments. 
 
Includes an overall 
conclusion. 


2 


2 marks 
Demonstrates 
good 
understanding of 
the key issues 
surrounding the 
change of 
organisational 
structure. 


2 marks 
Good application of 
how the change in 
organisation 
structure will affect 
Power Ridings in a 
positive and in a 
negative way. 
 


Clear reference to 
Power Ridings. 


2 marks 
Good analysis of the 
positive and negative 
impact of the proposed 
organisational change. 
 
Analysis shows an 
understanding of the 
impact on the business 


of the change. 


2 marks 
Good and balanced 
evaluation of the 
decision to change (or 
not change) the 
organisational 
structure. 
 
Valid judgements are 


made to support 
arguments with some 
development on both 
sides. 
 
May contain a brief 
conclusion. 


1 


1 mark 
Demonstrates 
limited 
knowledge of 
the key issues 
surrounding the 
change of 
organisational 
structure. 


1 mark 
Limited application 
of how the change 
in organisation 
structure will affect 
Power Ridings in a 
positive or negative 
way. 


1 mark 
Limited analysis of 
the positive and / or 
negative impact of 
the proposed 
organisational 
change. 
 
Demonstrates a 
superficial 


understanding of the 
impact. 


1 mark 
Limited evaluation of 
the decision to change 
(or not change) the 
organisational 
structure. 
 
Partial, unsupported 
judgements made. 
 


One-sided evaluation. 


0 
0 marks 


No correct 
knowledge 


0 marks 
No application to  
Power Ridings. 


0 marks 
No analysis given. 


0 marks 
No evaluation 
given. 


 
  







Indicative content: 
 


Possible reasons why Power Ridings should go ahead with the change: 
 


 Lower costs for wages – After redundancy payments are made long term costs will be 
lower enabling the business to make more profits in the long run. 
 


 Can charge lower prices – The change will allow them to become more competitive in 
the long run as prices will become lower than the industry average (OFR applies  to 
calculation answer from part C). 
 


 Higher profits – If prices are kept the same due to the ‘high quality reputation’ 
 


 Motivation of shop floor workers - Due to empowerment, workers may feel their 
self-esteem needs could be met (Maslow), and links to Herzberg’s motivators. Too 
much supervision links to Herzberg’s hygiene factors. Learners may analyse the 
impact of increased motivation on the business i.e. increase in productivity, 
reduction in labour turnover. 
 


 Communication may become quicker with fewer layers of hierarchy. 
 


Possible reasons why Power Ridings should not go ahead with the change: 
 


 Short term costs – Redundancy payments to the 3 managers per riding school and 
training costs to employees being empowered may adversely affect finances. E.g. 
Stable grooms may need training on purchasing and animal welfare. 
 


 Loss of skilled staff– Managers being made redundant may be better at doing the 
management roles compared to less experienced employees (stable grooms and 
riding instructors). 
 


 Loss of control - Sara clearly likes to keep a close control of how each riding school 
is run. With fewer managers she may have trouble ensuring all riding schools 
operate in the same way potentially affecting their high quality consistency 
reputation. 
 


 Work load on Riding Instructors and Stable Grooms– Will they be able to offer a 
quality services with the increased workload of managerial tasks such as purchasing, 
welfare, timetabling etc. 
 


 Work load of Riding School Managers – Will the manager be able to do his / her 
current role as well as marketing and being responsible for 12 more employees. It 
may be difficult to ensure high consistency in the quality of the service especially 
during busy times. 
 


Possible themes for evaluation: 
 


 Depends on whether lower prices outweigh the workload increases and potential 
damage to the high quality consistency reputation of the business. 
 


 Short term costs versus long term competitive gains. 
 


 If Sara can still effectively control the business. 
 


 Net effect on motivational levels. 
 


 Whether employees at the bottom of the hierarchy can carry out management tasks 
effectively. It may not be wise to cut all middle managers at once. 
 


 Any other relevant suggestion 
 


 Markers note: one sided answer gains 5 marks; band 2 AO1, band 1 all other AOs 
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Sticky Note

The learner picks up AO1 and AO2 marks within the first sentence’ linking how lower costs can be gained due to the removal of specific roles within the organisation. The learner then goes onto analysis the impact of lower costs onto the business (continues on start of page 4) allowing AO3 marks to be picked up. At this point the learner has achieved band 1 marks for AO1, AO2 and AO3 (3 marks). No evaluation was provided to make a judgement at this point so no marks for AO4 here.








6
A01-2
A02-1
A03-2
A04-1



Sticky Note

The first paragraph on page 4 does not use any more application to the case study and so no further marks are awarded for AO2. The learner carries on from the first argument with hoe lower costs can now lead to lower prices. Although this argument is relevant, no further marks can be awarded for AO3 as it is a one sided analysis so far. Due to the learner only considering one-side (why the change is good) the maximum marks that can be awarded is 5 marks, band 2 for AO1 and band 1 for all other AOs. The point is too similar to argument 1 to allow more than the one mark already given for AO1.
The last argument on page 4 finally demonstrates a two-sided argument. The point made allows both AO1 marks to be given, and the analysis (the impact) allows band 2 to be awarded for AO3 as the learner considers how there may not be enough employees to deal with changes in demand. However, no further use of the case study is used here no no further marks can be awarded for AO2. 1 mark can be given for AO4 as although there is no clear evaluation, the answer does have a balance and so 1 mark can be given for AO4.
Overall marks:  6 / 10
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10
A01-2
A02-2
A03-3
A04-3



Sticky Note

Page 3 – 4 – paragraph 2
The learner picked up marks for AO1 by considering the reduction in costs which is applied to the case study ‘less managers to pay’ so a mark for AO2 also awarded. The impact of this is then analysed how this can benefit the customer through lower prices or better horse riding equipment. A two sided answer is then balanced at the end of this page where the learner considers ‘however’. Which is explain at the top of page 4 in context where the learner considers how the increased workload of specific roles within the business may not be beneficial. This argument is rounded off well with the use of depend on factors considering that delayering may only work if delegation happens. This whole argument demonstrates enough points and multiple use of the case study to be awarded full marks for AO1 and AO2. Due to a good balanced argument with a supported judgement, band 2 marks are awarded for AO3 and AO4.
Page 4
Paragraph 2
As full marks have already been given for AO1 and AO2, we are now looking for further detailed analysis and evaluation within the answer to lift it from good to excellent. The learner demonstrates further analysis and evaluation when considering the impact of delegation and how motivation can improve the businesses operations and reputation allowing band 3 to be awarded for AO3. AO4 was also lifted into band 3 when the learner again counter argues this point with the use of however and depends on factors, suggestion that employees may not want the increased workload.








Sticky Note

Additional page
Full marks have already been awarded and so the overall conclusion doesn’t add more marks to the answer, but does add further evidence to show why band 3 AO4 should be awarded.
Overall marks:  10 / 10
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2



Sticky Note

Before going through this answer it’s important to note the mark scheme. A one-sided answer, regardless of its quality can only achieve a maximum of 5 marks. AO1 – 2 marks, AO2 – 1 mark, AO3 – 1 mark, AO4 – 1 mark. What we mean by a one sided answer is if the learner only considers why the organisational change is good or bad and not both (not balanced).
Page 3
Argument 1: The learner picks up marks for AO1, AO3 and AO4 on page 3 as the learner starts with a judgement, backed up by a relevant point on shorter communication which the impact of this is analysed on the effects it can have on motivation. There is no use of the case study on page 3 so no AO2 marks are awarded at this time.
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A01-2


A02-1


A03-1
A04-1



Sticky Note

Page 4
In the second argument the learner picked up an extra mark for AO1 noting that fewer diseconomies of scale will be achieved but the learner cannot pick up anymore marks as the learner continues to consider advantages of the organisational change (one-sided) and again does not use the case study to pick up any AO2 marks.
In the third paragraph, again the answer is one sided however an AO2 mark can now be given as the learner considers the new price of the riding lessons so the answer is applied. As the answer is still one-sided no further marks can be given to AO3 or AO4.
The final argument doesn’t add anything more to the answer and does not consider both sides of the argument, as a result 5 marks can only be given for a one-sided argument.
Overall marks:  5 / 10
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SECTION A


Answer all questions from this section.


1. 	 Organisational change at Power Ridings?


	 Power Ridings Ltd is a medium-sized business based across the South of England that provides 
horse riding lessons to most age groups. The business has six riding schools altogether and 
the managing director, Sara Power, has provided the following information on the current 
organisational design of the business:


	 Figure 1: Current organisational structure of each riding school. 
Each riding school manager reports directly to Sara:


© WJEC CBAC Ltd.


Riding School Manager
(1)


Responsible for finance, HR 
and the assistant manager


Assistant Manager
(1)


Responsible for marketing as 
well as both managers below


( ) Number in brackets 
denotes how many people 
are currently employed in 
that role per riding school.


Stable Grooms
(3)


Horse Riding Instructors
(10)


Horse Stable Manager
(1)


Responsible for welfare, health 
and safety, purchasing and the 


stable grooms


Horse Riding Manager
(1)


Responsible for the day to day 
operations, timetabling and the 


horse riding instructors


	 The company operates a centralised structure where all business decisions are made by Sara 
through a clear chain of command. 


	 To improve performance, a business adviser suggested delayering and removing assistant 
managers, horse riding managers and horse stable managers from each riding school and 
increasing the span of control of the riding school managers. The business adviser also 
suggested empowering the workers at the bottom of the organisational structure. 


	 The business has a reputation of providing consistently high quality riding lessons with the price 
charged for each lesson being above the industry average of £40. Sara uses a strategy of 40% 
cost-plus pricing and is keen to find out what her prices would become if she went ahead with 
the adviser’s recommendations.
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Examiner


only
	 (a)	 What is meant by the term ‘chain of command’?	 [2]


	


	


	


	


	 (b)	 (i)	 What do you understand by the term ‘span of control’?	 [1]


	


	


	 (ii)	 Taking into account the business adviser’s proposed changes, what will be the new 
span of control of the riding school managers?	 [1]


	


	


	 Sara calculated that on average it would cost £25 to provide each riding lesson after delayering 
had taken place. 


	 (c)	 Based upon her 40% cost-plus pricing strategy, calculate the average selling price of 
each riding lesson after delayering has taken place. 	 [2]


	


	


	


	


	 (d)	 Advise Sara whether to go ahead with the business adviser’s suggestions.	 [10]
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A01-2
A02-1
A03-2
A04-2
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A01-1
A02-2
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A04-0












 
 


3 (b) Consider the benefits and costs of research and development to businesses.  
 [8] 


Band 
AO3 AO4 


4 marks 4 marks 


3 


4 marks 


Excellent detail and well-balanced 
analysis of the benefits and costs of 
research and development. 
 
The key issues are discussed. 
 
Analysis shows a clear line of 
argument and includes an excellent 
understanding of the importance of 
research and development. 


4 marks 


An excellent and well balanced evaluation 
of the benefits and costs of research and 
development. 
 
The focus is on the key issues. 
 
Both sides of the argument are evaluated. 
 
Clear judgements are made with supporting 
statements. 


2 


2-3 marks 


Good analysis of the benefits and 
costs of research and development. 
 
A number of key issues are 
discussed. 
 
Analysis is uneven, with some well-
developed points and some where 
the development is more limited. 
 
The analysis will mainly focus on 
one-side of the argument. 


2-3 marks 


A good evaluation of the benefits and costs 
of research and development. 
 
The evaluation includes most of the key 
issues. 
 
The evaluation is reasonably well balanced 
with some development on both sides of the 
argument. 
 
Valid judgements are made with some 
supporting statements. 


1 


1 mark 


Limited analysis of the benefits and 
costs of research and development. 
 
A limited number of issues are 
discussed. 
 
The analysis will focus on one-side of 
the argument. 
 
Undeveloped points are made. 
 
 


1 mark 


Limited evaluation of the benefits and costs 
of research and development. 
 
The evaluation is one-sided. 
 
An awareness of the key issues but little 
development. 
 
Judgements are superficial and 
unsupported. 


0 
0 marks 


No analysis attempted. 


0 marks 


No evaluation attempted. 


 


 
  







Indicative content: 


 
Benefits of Research and Development: 
 


 Launch new products successfully and create star products to gain a competitive 
edge. 


 Businesses can meet the changing needs of the market. 


 Allows price skimming so the company can earn greater profits. 


 Consumers gain a greater variety of goods. 
 Improves the company image. 


 Companies can gain USP. 


 Reduction in the long term costs of production due to developments of new 
technology. 


 An improved working environment, making it safer and cleaner. 
 


 Any other relevant suggestion. 
 
Costs of research and development: 


 


 No guarantee of success. 


 Amount of money required to fund the R&D investment. 


 Likelihood of negative cash flow in the short-run to fund “problem child” products. 


 New ideas potentially open for competition to copy. 
 


 Any other relevant suggestion. 
 


Possible key themes for evaluation: 
 


 Depends on the nature of the industry, some industries require more R&D compared 
to others. E.g. car industry compared to the bread industry. 


 Depends on competitors reactions. 


 Depends on whether firms can protect their inventions in some way (e.g. patent). 


 Depends on money and time available. 


 Depends on the skills of the workforce carrying out research and development. 


 Short term costs with potential long term rewards. 
 


 Any other relevant suggestion. 
 
 
 
Markers note: 
Be careful of answers focusing on market research and not research and development. 
















3
A03-2
A04-1



Sticky Note

Before reading this question it is important to note that there are no marks awarded for AO1 or AO2 and so undeveloped points made are given as band 1 AO3 only, and to achieve higher than this points need to be developed.
 
Argument 1: The learner picks up 1 mark for AO3 with underdeveloped points noting that gaps in the market can be found, with little development of this point linking it to product demand. The remaining part of this first paragraph the learner goes on to make two more points which are not developed by stating R&D can find cheaper ways of producing its product and allows prototypes to be tested. Clearly the student understands R&D however points made are of no / little development. So by the end of this argument the learner has achieved 2 mark for AO3 (only just 2 marks) for a one-sided answer with a very small amount of development. No AO4 marks have been awarded as there is no evaluation at this point.

Argument 2:  The learner provides a balanced answer by now considering why R&D may not be useful so therefore an AO4 mark can be awarded as there is a balance to the answer. Again unfortunately the learner does not develop any points made and so no further AO3 marks can be given, but one mark can be awarded for AO4 with a limited evaluation, superficial judgments due to a balance of arguments.
Overall marks:  3 / 8
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A01-2
A02-1
A03-2
A04-2


6
A03-3
A04-3



Sticky Note

Argument 1: The learner initially makes an unsupported point on how R&D can lead to innovative products (band 1 AO3). This is then further developed when the learner talks about how it can lead to a USP, and the ability to charge higher prices (Band 2 AO3). The argument is then concluded with a balanced answer which allows top AO3 band 2 to be awarded and AO4 band 1 to be awarded when the learner considers that R&D costs will not result in short term profit.
Argument 2: The learner is not able to get into excellent band 3 for analysis as although the argument here is good it doesn’t allow the depth of analysis to achieve top marks for AO3. However, the use of this argument gives a more supported well-balanced argument and so band 2 marks can be awarded for AO4.








Sticky Note

Page 19 – continuation paper: The evaluation is a nice summary of the learners answer but with no depend on factors this is not enough to allow AO4 to get into band 3. The overall answer is top band 2 and AO3 being very close to achieving full marks.

















5
A03-3
A04-2


5
A01-1
A02-2
A03-2
A04-0



Sticky Note

The first argument the learner achieved band 1 AO3 (1 mark) as a relevant point was made but was not developed with a chain of argument and so only limited band 1 AO3 was awarded at this point.
Argument 2: The learner uses Dyson as an example to achieve more marks for AO3 and AO4. The use of the Dyson example allowed band 2 to be achieved for both AO3 and AO4, as it is used as supporting evidence to show that by spending money on R&D it made them the market leader, however businesses need a significant amount of fund do this “£200 million – Dyson” and so smaller firms may find this difficult to undertake. This provides a balanced answer that is supported with the use of Dyson and so Band 2 can be awarded for both AO3 and AO4 (2 marks for each AO).
The final argument allows the learner to achieve top band 2 for AO3 demonstrating the opportunity cost of money being spent on other areas as a result of R&D spending. This doesn’t carry the depth required for band 3, but allows top band 2 marks to be achieved for AO3. The overall answer is very close to 6 marks.
To achieve band 3, there needs to be stronger chain of progression of arguments and more than one depend on factor should be considered considering instances when R&D is more important than other situations.
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Examiner
only


© WJEC CBAC Ltd.


3. 	 R&D and production in the car industry


	 Tesla Motors specialises in producing electric cars and in 2016 planned to produce between  
80 000 and 90 000 electric cars. In 2016 Tesla Motors also announced that it is on track to 
produce 500 000 electric cars per year from 2018, as it boosts investment in flow (mass) 
production. Tesla’s share price increased at the announcement of this news, even though the 
company losses have deepened due to its expansion costs. 


	 The Morgan Motor Company Ltd on the other hand, has been hand-making their specialist 
classic cars and sports cars since 1910 by very highly-skilled workers, using job and batch 
production techniques. The company makes just over 1 300 cars per year and its Plus 8 model 
takes 30 days to build with average customer waiting times of 6 months for delivery.


	 Although both companies produce cars differently, both value the importance of research and 
development in enhancing their product ranges.


	 (a)	 Discuss the appropriateness of the production methods used by Tesla Motors and the 
Morgan Motor Company Ltd. 	 [8]


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	


	







(B510U20-1) Turn over.


11


© WJEC CBAC Ltd.


	


	


	


	 (b)	 Consider the benefits and costs of research and development to businesses. 	 [8] 
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4 (b) “Budgeting is always beneficial to the stakeholders of a business”. Discuss this 
statement.  [15] 


Band 
AO1 AO3 AO4 


3 marks 6 marks 6 marks 


3 


3 marks 


The learner demonstrates 
excellent understanding of 
the value and limitations of 
budgeting to different 
stakeholder groups. 
 
The key value and 
limitations of budgeting are 
well explained. 
 
There is clear 
understanding of the 
contrasting interests of 
different stakeholders.  


5-6 marks 


The learner gives an 
excellent analysis of the 
value of budgeting to 
different stakeholder groups. 
 
The analysis is balanced and 
detailed. 
 
Key issues have been well-
developed with a clear line of 
argument. 
 
The impact of budgeting on 
key stakeholder groups and 
their interests is explained. 
 
In-depth analysis required for 
this band. 


5-6 marks 


The learner gives an 
excellent evaluation of the 
value of budgeting to 
different stakeholder groups. 
 
The evaluation is 
balanced and detailed and 
will focus on whether all key 
stakeholders benefit from 
budgeting. 
 
The evaluation provides a 
broad range of arguments on 
both sides of the debate. 
 
Clear judgements are made 
with supporting statements to 
build an argument. 
 
A holistic evaluation may be 
offered with an overall 
conclusion. 


2 


2 marks 


The learner demonstrates 
good understanding of the 
value and limitations of 
budgeting. 
 
The learner makes an 
attempt to identify some of 
the key effects of budgeting 
on different stakeholders.  
 


3-4 marks 


The learner gives a good 
analysis of the value of 
budgeting to different 
stakeholder groups. 
 
The analysis is uneven with 
some well-developed points 
and others which are more 
limited in their development. 
 
The analysis will mainly focus 
on one side of the argument. 
 
The analysis will be 
supported by some reference 
to how budgeting will be 
beneficial or not to 
stakeholder groups. 
 
A number of key issues are 
developed. 


3-4 marks 


The learner gives a good 
evaluation of the value of 
budgeting to different 
stakeholder groups. 
 
The evaluation is reasonably 
well-balanced with some 
development on both sides of 
the debate. 
 
The learner makes 
judgements with some 
attempt to support their 
evaluation. 
 
The evaluation will include 
some of the key issues. 
 
The answer may include a 
brief conclusion. 







1 


1 mark 


The learner demonstrates 
limited understanding of the 
value and limitations of 
budgeting. 
 
Understanding is 
superficial. 
 
The learner identifies the 
value and limitations of 
budgeting with no 
explanation. 
 
Little or no reference is 
made to stakeholders in a 
business. 


1-2 marks 


The learner gives a limited 
analysis of the value of 
budgeting to different 
stakeholder groups. 
 
Analysis may not include 
some key stakeholders. 
 
Superficial discussion on 
the impact of budgeting on 
key stakeholder groups and 
their interests. 
 
A limited number of key 
issues are developed. 
 
Stakeholder’s effects do 
not link directly to 
budgeting. 
 
The analysis will focus on 
one side of the argument. 


1-2 marks 


The learner gives a limited 
evaluation of the value of 
budgeting to different 
stakeholder groups. 
 
The learner shows an 
awareness of some of the 
key issues but with limited 
development. 
 
Stakeholder’s effects do 
not link directly to 
budgeting. 
 
Judgements are superficial 
and unsupported. 
 
The evaluation is uneven 
and focuses on one side of 
the debate. 
 
Evaluation is not explained. 
There is no conclusion. 


0 


0 marks 


The learner demonstrates 
no understanding of the 
value and limitations of 
budgeting. 


0 marks 


The learner gives little or 
no analysis of the value of 
budgeting to different 
stakeholder groups. 


0 marks 


The learner makes no 
meaningful evaluation of 
the value of budgeting to 
different stakeholder 
groups. 


 


Indicative content: 
 


A Budget is a financial plan of action describing expected levels of expenditures and revenues 
for a business over a given time period. 
 


A stakeholder is anyone who has a direct or indirect interest in the activities of a business. 
 


Why budgeting can be beneficial to different stakeholder groups: 
 


 Shareholders – Having sales targets and keeping costs down will help cash flow as 
well as maximising profit margins resulting in higher dividends and possibly a higher 
share price. 


 Employees – Sales and Costs targets can act as motivational tools provided there is 
an outcome for meeting targets. Keeping costs and sales under control can also help 
job security and provide a channel for future pay increases if the business is 
performing financially well. 


 Customers – A business that can control costs can have a knock on effect of lower 
prices to consumers, resulting in higher levels of customer satisfaction and repeat 
business. Businesses that make more profits due to effective budgeting have more 
profits for R&D and product innovations for customers 


 Management – Budgeting is a management tool that communicates targets directly to 
all employees, budgeting can be a way of ensuring the business meets their aims and 
objectives as well as providing greater bonuses to managers. Budgeting allows a 
tighter control of the business and enables managers to carry out their duties 
effectively. Budgeting can be used a motivation tool for managers and employees. 


 


  







 Suppliers – Are more likely to get paid and gain repeat business from a business that 
controls their finances effectively. Accurate sales budgets will help communication 
with suppliers in regards to anticipated timings and the amount of stock deliveries. 


 Local communities – A business that controls costs and sales effectively can 
potentially make more profit, this could be invested back into the local community. 
The business will be a secure site within the community and can lead to further job 
creations for local populations depending on how much the budgeting helps 
financial success. 


 Government – Taxes will be paid on time and accurately from businesses who 
manage their finances effectively. Higher profits from the control of revenue and 
expenditure can result in higher profits and thus higher corporation taxes to the 
government. 


 


Limitations of budgeting to stakeholders: 
 


 A revenue, expenditure and profit budget could be inaccurate for several reasons: 
 


o A new competitor entering the market may make the revenue budget 
unachievable.  


o Unexpected costs increases e.g. stock, rent and other bills. 
o Other external factors such as a downturn in the economy. 
o The budget may have been based on poor research or conducted by 


inexperienced managers causing high variances between the budget and actual. 
The targets set in the budget therefore could be too high or too low for 
employees to achieve. 


o Employees and managers may not follow the budget. 
o Budgeting doesn’t guarantee effective financial planning and does not guarantee 


that costs will be managed efficiently and sales will be high. 
 


Limitations of the above to Stakeholders: 
 


o Employees may feel targets are too high and so become de-motivated and under 
value the importance of budgeting. May lose jobs due to tighter budgeting 
controls. 


o Managers may feel under pressure to stick to the budget and make safer 
decisions for the business, losing innovation and creativity for the business. 


o Shareholders may have expected higher profits and so receive less than 
expected dividends and a falling share price. 


o Suppliers may not get paid on time and therefore not trust the businesses 
approach to budgeting. 


o There may not be job opportunities for local communities or supporting of local 
events due to inaccurate budgeting. 
 


Possible key themes for evaluation: 
 
The value of budgeting to stakeholders depends on: 


 The variance between the budget and actual. 


 Whether the budget targets are realistic to stakeholders. 


 Whether the future can be predicted (fast-moving market versus stable market). 
 The experience of the financial manager in setting the budget / reacting to unforeseen 


changes that may require changes to the budget. 


 Whether the business learns from its mistakes to improve future budget predictions. 


 Employees and managers attitudes towards the budget. 


 A poorly created budget with large variances has no value and can adversely affect 
stakeholders and their expectations. 
 


 Any other relevant suggestion 
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Sticky Note

1st page: 
The first paragraph gave an unsupported evaluation (AO4 only). No AO1 marks here as AO1 is for the identification of pros and cons of budgeting, with higher AO1 marks for linking these with different stakeholders.
This second paragraph demonstrates a limited start to this question and focuses on shareholders of a business. AO1, and AO3 marks are picked up initially which a limited analysis on why budgeting is important for stakeholders. Further along this argument the use of ‘however’ with considerations of why budgeting may not be good for stakeholders picks up marks for AO4 as it shows a balanced argument, counteracting whether shareholders really gain from budgeting. The question here for examiners is that does the learner really have good understanding of shareholders, as the learner did not link the benefits of profits to shareholders i.e. increased dividends. At this point the learner has scored top band 1 across all AO’s.
2nd page:
The first paragraph on employees only considers why budgeting may not be beneficial to them. Again it’s not perfect knowledge of the type of roles that employees carry out and how budgeting can affect these specific roles, however there is just about enough knowledge and analysis of relevant points here to allow bottom band 2 marks for AO1 and AO3.
The second paragraph on page 18 considers managers, The understanding of managers roles is good, but across all stakeholders so far there is certainly not excellent understanding so AO1 kept at band 2. Analyses adds more to the answer, although not excellent at the end of this paragraph its certainly enough to score top band 2 for analysis considering all analysis demonstrated so far. There is use of a counter argument again here ‘however’ which adds more for AO4, but this is still quite limited at this point with little development of this judgment so AO4 kept at top band 1.
3rd page:
The first paragraph shows knowledge of budgeting but is not linked to any stakeholder needs and so cannot be given anymore AO1 or AO3 marks as the learner has already achieved top of band 2 here. For excellent AO1 and AO3 there needs to be clear links to stakeholders throughout.
The final paragraph, the learner provides an evaluation which is more of a summary of the learners answer rather than an effective judgement with depends on factors which would determine when budgeting is more useful to different stakeholders. As a result this summary type of evaluation just about scores band 2 3 marks with an attempt to make a judgment and the use of ‘however’ throughout the answer.













Sticky Note

Paragraph 1 is an excellent start on managers.
There is clear understanding of the role of a manager, which the learner demonstrates analysis of the impact of managers being able to plan ahead. There is then the use of ‘however’ to show a counter argument which is used to add more AO3 and also AO4 as the learner provides a balanced argument. Finally the use of ‘depends on factors’  shows a good judgement (AO4) identifying when budgeting may be more useful for managers. This is a perfect start a paragraph demonstrating all AO’s.

Paragraph 2 is equally and good as paragraph 1 on shareholders. There is clear understanding of shareholders wants ‘dividends’. There is clear analysis on how budgeting can allow shareholders to gain more dividends. There is also further good analysis and good evaluation with ‘however’ considering why shareholders may not benefit leading onto another very good judgement point with the use of ‘it depends on’
.








Sticky Note

Paragraph 1 considers employees and is written in the same way as previous arguments allowing the learner to gain more marks for all AOs. There is clear understanding of the impact of budgeting to employees, which the impact is explained well how it can affect employee motivation and the benefits of motivation. Rounded up again by very good use of depend on factors demonstrating an evaluation.

The second paragraph focuses on customers (continued onto 3rd page). There is a good analysis to begin with in terms of how budgeting too tightly may result in less innovative products, counteracted very well with how budgeting could be beneficial in lower costs and lower prices. Again this argument is rounded off with excellent evaluation with the use of depend on factors considering when budgeting is more useful to customers. At this point there is enough in the answer for the learner to achieve full marks without a final evaluation due to the use of depend on factors throughout their answer.
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Sticky Note

Final paragraph: Full marks have already been awarded at this point due to the use of AOs within each argument. Any answer on stakeholders written in this way would be the perfect structure when answering questions on stakeholder needs. 













Sticky Note

The first paragraph doesn’t add anything to the answer at this point, it’s not necessary to introduce an answer like this.

The second paragraph opens with a unjustified AO4 evaluation point, then considers managers. There is decent understanding of managers roles (pre-planning) which is linked to how budgeting can help this, however analysis of the impact of this benefit isn’t explained. The learner goes on to consider why budgeting may not be useful and because there was no analysis of why budgeting is important to managers, the analysis here of why it may not be good for managers can achieve AO3 marks with a one-sided analysis within this argument. On the 2nd page the learner attempts to continue this chain of argument, however it is quite weak and doesn’t allow the answer to get into band 2. There is an attempt of a balanced argument in this argument with some understanding of budgeting and stakeholders with limited analysis, so band 1 across all AOs is awarded here.








Sticky Note

The paragraph on shareholders shows clear understanding of shareholder wants which is linked to budgeting very well. There is no counter argument here showing why shareholders may not benefit, but the learner provides a relevant good judgement to back up why shareholders may not have any negatives of budgeting which allows the answer to get into band 2.
The final paragraph considers the CEO, which is similar to the impact of managers and doesn’t allow the answer to gain more than band 2 marks as the learner only attempts to consider why the CEO will gain here so no further AO4 marks.








Sticky Note

The first paragraph considers external stakeholders (bank). Again understanding of stakeholders and the value of budgeting is strong here allowing full marks to be given for AO1. The analysis and evaluation here again is ok, but certainly not strong enough to achieve more than band 2, but overall with the other arguments it is suitable to award good band 2 marks for AO3 and AO4.

The final evaluation judgment point is supported throughout the answer but doesn’t add more to AO4 and does not consider the different depend on factors which could make budgeting more useful at times, and so AO4 kept at band 2.
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SECTION B


Answer one question from this section.


Either,


4.	 Future Finance 


	 	  
	


	 (b)	 ‘Budgeting is always beneficial to the stakeholders of a business.’ Discuss this 	
statement. 	 [15]


Or,


5.	 Fizzy Marketing


	 (a)	 Describe the different types of below-the-line promotional strategies that a soft drinks 
producer such as Coca Cola or Pepsi Co could use to increase sales. 	 [10]


	 (b)	 ‘No business can succeed in the long-run without an effective marketing department.’ 
Discuss this statement.	 [15]


Or,


6.	 Human Happiness


	 (a)	 Describe the different non-financial methods of motivation a tourist attraction business 
such as a theme park or a zoo can use to motivate its workforce.  	 [10]


	 (b)	 ‘A business can only be successful if it has positive employer/employee relationships with 
minimal conflict.’ Discuss this statement. 	 [15]











